Worked Examples

1. Mario scored 375 points in level one and earned a bonus of 197 points. What is Mario’s total
score? .

375

+ 197
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571 ponts

in length. What is the total length of the garden?
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4. The spaceship has a two-stage thruster. The first stage lasts 2 hour, 52 minutes, and 13 seconds.
The second stage lasts 1 hour, 23 minutes, and 54 seconds. What is the total amount of time for

the two-stage thruster? , 13 sec t SHcec= 67 secamity
]
G7 Sel = j. MW + 7${C.

2 hr. 52 min. 13 sec.
+ 1 hr. 23 min. 54 sec.
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Objective: Use regrouping for addition of mixed numbers and measurements.

©Jim Olsen




